MODEL QUESTION PAPER
Class-VIII (Session : 2021-22)
Subject-Mathematics

(Hindi and English Version)
Time Allowed : 3 hrs Maximum Marks ; 100
Instructions ( =91 ):
@) @t 9 AFEE
(i) Tt T 3 ois e % WO S9E T

1. =gfaemedE ¥ed (Multiple Choice Questions) 1x30=30
2 - 5
L - 1 =g gfaens ferar:
.8 8 IE
(i) 5 (i1) 5 (111) S
2
Write the additive inverse of -8_
T .
(1) 5 (ii) 5 (i) 7
7. HHE x—2=7 " W E?
I x (i) 2 (miy7
In the equation x —2 =7 which is variable?
1 x (2 (i) 7
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3, e % R I A e

@ 180° - (i) 360° (111) 90°
The sum of four angles of a quadrilateral is-
@ 180° (i) 360° (i1} 90”

4, =R T g T g el e wed <
@ e (i) St (iif) S

The figure bounded by four sides is called:
(i) Triangle (i) Quadrilateral  (ii1) Polygon
5. 100 1 9 &

i 5 (i) 10 (i) 15
The square root of 100 1s:
1 5 (i) 10 (ii) 15
6. HBN3FMEALI
D 6 (i) 2 (1) 27
The cube of 3 is:
i 6 (i) 9 (ii1) 27
7 AT = sk et
(1) 1000 (i1) 10,000 (1) 10.000
T0KM = .....cocnnnns. Metre
{ 1000 (11) 10,000 (1i1) 10,000

8. 5T H 10T AIFIICEI
@ 1:2 (ii)2 : 1 (iii) 1:3
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10.

s

12.

13.

The ratio between T5to T101s;

(nyl:3

20
() 750

W 700

(iii) -1

(i) —1

(i) 360°

The sum of measures of the external angles of any polygon is:

(111) 360"

(ii1) 4p

(iii) 4p

(iif)

(ili) —a®

i 152 (my2:1

20% =T 319 ¥ |

20 | 20

O Tooo W 75

20% means:

_ 20 L 20

O To00 W10
Tt i den fafau fas 9 sgeem 76 €
@i o (i) 1

The rational number that does not have a reciprocal.
1 0 (i) 1

et SIg s % et ol o =l o A e 2
(1 100° (ii) 180°

(1 L00° (1) 180°

4p 3R 0 AR 7

@ 4p? (i) 0

Product of 4p and 0 is:

@ 4p? (w0

a, —a’, a’ &l UES §:

(i) af (11) a°

Productof a, —a?, a®is:

i a° (i) &°
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4.

15.

6.

17.

18.

19,

|+ x + x2 Hx2 F O B

@ 1 (i) 2 (i1} ¢
The coefficientof x2in 1 +x +x?is:
i 1 ()2 (i11) 0

8 G wIF A e g2 e

G) F+V=E+2 (i) F-V=E+2 (ii)F+V=E-2
Which one of the following is “Euler’s Formula”™

@ F+V=E+2 (i)F-V=E+2 (()F+V=E-2

EREIR At eis

(i mr? (i) 2mr (iii) 4rr
Circumference of a circle is:

i Tt (11) 27mr (iii) dmr
Afz ferel =l 1 O 4 e o I5E &Rl 8
@ 8= (ii) 16 =7 (iii) 4 I
If the side of a square is 4 metre then the areais:
1 8m’ (i) 16m* (iil) 4m”
A" 1 T &~

i o0 (i) 1 (i)
value of ais:

@ O (i) 1 (i) a

(e =7

@y e (ii) am - (iif) o
(a™" =7

@ amo (ii) am =" (iii) a™"

13

Downloaded from cclchapter.com




20. a?—b? & UHEE -
1 (a+b)(a—Db) (ii) (a=b) (a=b)
(m) (a+b)(a+b)
Factors of a>— b? are:
i (a+b)(a—b) (i1) (a—b) (a—b)
() (a+b)(a+b)
21. 12x % UGS §-
1 2x2x3xx@{i)2+2+3+x (@)2+6+4+x
Factors of 12x are:
1 2x2x3xx(D2+2+3+xXx (QU)2+6+4+x

22. TR TS H A T

1
0 = bh (ii) bh (iii) 2bh

Areaof Parallelogram is;

I
(i) Ebh (ii) bh (iii) 2bh

23. A% Torell s & fasol d, eI d, &1 a1 35 &wel 20

1 ¢ \ |
@ d, xd, (ii) ;II__d, +d, (i) > xd, xd,
If the diagonals of thombus are d and d, then its area is:
, e Bl o o) i _
(i d xd,- (u)'z“l\dﬁ‘dgj () _ZXLilx‘*!z
24. 2y, 22xy % HE UHEE ¥
H 2 (i) 2xy (i1i) 2y
14
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Common factor of 2y, 22Xy is:

iy 2 (1) 2xy (i) 2y
25, a—b &R b A T AR B

(1 2a+2b (ii) 2a—2b (i) 0

Sumofa-bandb—ais:

(i) 2a+2b (i) 2a—2b {11) 0

26. afE Topdt oTad I TS 3x S A1 AISK Sy THE & Al T
AT H TR €
@) 8xy T THE (ii) 15x + y T T (iii) 15xy =l gohie
If the length of a rectangle is 3x unit and breadth is Sy unit then
area of this rectangle is:

(i) 8xy square unit (ii) 15+y square unit
(i) 15Xy square unit
]. =, ol
2 5 CaRIUIGE R IR
ay 3 (11)—> (1} 5
= 1
Multiplicative inverse of 5 is:
@ 5 (i1) -5 (m) - 5
t .
28. 7K -5—:10 1l t A
i 15 (i) 50 (iii) 2
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if — = 10 then the value of tis:

Ln | —

@ 15 ()50 (iif) 2

29. T @ @ we gl o @ E?
i 36 (i) 48 (iii) 64
Which of the following is not a perfect square?
i 36 (ii) 48 (iii) 64

30. Tl 99 % =g 10 1 A §7
i 360° (1i) 180° (iii) 90°
Measure of central angle of a circle is:
(1 360° (i) 180° (111} 90°

2. R T - Ix10=10

1 ,
1. —(x=0) TR T
X

1, ,
Reciprocal of ;LX T2t 8 N _

2. I TR 6x = 12 % A1 x FTAA oovvvneo 2l

If an equation is 6x = 12 then value 0f X 18 ...ccoovee :
3. e Py A ol & e z

Number of diagonalsin atriangle are .............. .
PRI - B o R — gl

Square of 3215 wcocteverrienenn

16
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10.

P HRAGA Y27 = i el
Cube root 1s 2?1. Ty L SRR :

32 HIHM e B
By evaluating 37 we get ......c..........
Waﬂ%wﬁmﬂﬁnﬁmwwm L EET R

Reduction given on the marked price of the article is called

Discount = Marked price —............... price.
A H HABT I GET v B

The number of faces ina cuboid are ..o .
10° - 82 % TUFEUS ... ¢l

Factors of 107 = 8% are ... .

—w@?&wﬁm@mwﬁm 2%10-20
8]

6 7
Multiply e} by the reciprocal of IT3
ol

Tx—42 SR o UETE HifT |
Factorise : 7x —42
7 fordft sgRe F 10 Fere, 20 fear 3R 15 3fid &1 wed

Can a polyhedron have 10 faces, 20 edges and 15 vertices?
OIS FT ST - (ad) x (2a%) x (4a*)
17
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Find the Product: (a%) x (2a2) x (4a™)

s 25 Feeerd § @ 72% faEnef nfor F wfa va €1 FRd i
ferenedt nfora % & 7T v €
72% of 25 students are good in mathematics. How many students
are not good in mathematics?

6. 3 :4 % dfaem ¥ uRafda wifsl
Convert 3:4 into percentage.
7. GHEHT 4z + 3 = 6 + 22 1 TA HISC
Solve the equation: 4z + 3 =6+2z
g, vy UES fafd § 512 F S T FIS
Find the cube root of 512 by prime factorisation method.
9. fareht wo=ges % faerof 7.5cm T8 12em & | 3505 &6 §14
EdiE s
The diagonals of thombus are 7.5cm and | 2¢m. Find its area?
10, W = fafa @ 2304 = aEE TR AT
Find the square root of 2304 by division method.
4. 1. =S ABCD & & Fitee s AB =4.5cm, BC =5.5¢m,
CD =4cm, AD =6cm a9 AC= Tem el
Construct quadrilateral ABCD where AB = 4.5¢cm, BC=5.5¢cm,
CD =4cm, AD =6cm and AC = Tem. (3x10=30)
5. afx =i 3 TG ST 5 W 75% W T F AR T600 wH Al
a1 T fF 5w wE e A el ¥ 97

If Chameli has 2600 left after spending 75% of her money, how
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L

much did she have in the beginning?
TFrefafed 9m § Q 919 Fifsa:
31Q
+1Q3
501
Find Q in the addition:
510
+1Q3
501
TOHEE HIfST:- X2 + xy + 8x + 8y
Factorise : x* + Xy + 8x + 8y
foret Wi fd et o uah et 840 st 6 52 § el & 1=
A machine in a soft drink factory fills 840 bottles in 6 hours, How
many bottles will it fill in 5 hours?
U] JId I 2 (5 — 2x) (3 + x)
Find the product: (5 -2x) (3 +x)
T UH B9 1 4o F19 i o gt d5me 600em?
Find the side of a cube whose surface area 1s 600cm?.
TOFES HAG BT - p2— 10p + 25
Factorise : p?— 10p + 25
UF T FoH w1 SR 91 e fgswt e vem @R g
TR A% 968cm? ¥ |

Find the height of a cylinder whose radius is 7em and total surface
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area is 968cm?.
10. WA B~ (a+b+c)(a+b~c)
Simplify : (a+b+c)(a+b—¢)
. T oy f& frelt sl & g # gd fafue aegedl = fomd

(Tl H) A T B 5
A WS : 320
e 5 : |80
ﬁaﬂ'{ﬁ?ﬁ 160
oz : 120
4 |40
Edsl § 20
T AHE % g TF W w=E G |

On a particular day, the sale (in rupees) of different items of a buker’s
shop is given below:
Ordinary bread : 320

[Fruit bread : |80
Cake and Pastries : 160
Biscuits : 120
Others c 40
lotal . 720

Draw pie chart for this data.

. T fagadt =1 =1ifesa %W (Graph Sheet) 92 @ifia #ifw, i
Siitee f @ 3wl U we Y W feam 87 5
A4,0,B@,2),C4,6),D(4,2.5)

Plot the following points on a graph sheet verify if they lie on a line.
A4,0),B4,2),C(4,6),D(4.2)5)
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